Name:  ______________________________		Date:  ________________	Period: ____________
Molarity & pH with strong acids/bases
	pH = -log [H+]
pOH = -log [OH-]
	[H+] = 10-pH
[OH-1] = 10-pOH
	1.0 x 1014= [H+] x [OH-]
14 = pH + pOH
	



1. Calculate the pH and pOH of a 0.0430 M HNO3 solution.   
2. Calculate the pH and pOH of a 0.020 M Ba(OH)2 solution.   
3. What is the [H+] and [OH-] of an aqueous HCl solution that has a pH of 3.20? 
4. What is the pH and pOH of a 2.5 x 10-6 M solution of HCl? 
5. Determine the pH and pOH of a 0.010 M HNO3 solution. 
6. What is the [H+] and [OH-] of an aqueous Sr(OH)2 solution that has a pOH of 1.50? 
7. Calculate the pH and pOH of a 0.0010 M NaOH solution. 
8. What is the pH and pOH of a 0.020M Sr(OH)2 solution?  
9. What is [H+] and [OH-] for a solution with a pH of 10.2? the pOH? 
10. If 8.50 g of NaOH is dissolved to make a 0.500 L solution. What is the molarity and pH of the solution? 
11. 19.2 g HCl is dissolved to make a 1.50 L solution. What is the molarity and pH of the solution? 
12. What is the molarity and pH of the solution if 3.60 g of Ba(OH)2 is used to make 250.0 mL solution.  
13. [bookmark: _GoBack]What is the molarity and pH of the solution if 21.0 g of H2SO4 is used to make 1900.0 mL.?  
14. What is the volume in milliliters used to make a 0.025 M HNO3 solution from 24.5 g HNO3?
15. What mass of Sr(OH)2 is needed to make 250.0 mL of a 0.75 M solution?
